DUAL
ROD CYLINDER

JXS

010, @15, 820, 025

Lielsts 24 / 72 Bt

Improve durability / stroke Variations / Compact design
Improve load resistance

279 .o



DUAL ROD CYLINDER

JXS - 10, 15, 20, 25
B £Z! (Character)

L4 Bt
Improve durability
Clst AEET

stroke Variations
ZWESH C|xjel
Compact design
LH&lats A7

Improve load resistance

OO =lo
F=7E

Non-lude

B H[ZAL (Specification )

TEHA (mm)
. 20
Bore size

AHEHIA| .
=L e =] g
Acton S5 H==ZE Duble acting

élt-i%%ﬂl 7| 2 22k 714 Air(Non-lube)

23 TMPa(10 kgf/cm?)

Proof pressure

| Aty 0.7MPal 7 kgf/cm?)
Maximum operating pressure )

E[MALS AU

Minimum oi;erating pressure 01 MPa[1 kgf/cmzl
9| 9l AZRHRE - 60°C (41~ 140°
z_m-ll;ientand flu-'ll;irtemperature USRI
Mg IAE &5 50 ~ 770 mm/s
Piston speed

4 2{t{ A Rubber bumper

Cushion

=27 S22 (ZRAI1S0VG32#) Non-lube (If required IS0 VG324#)

Lubrication

www.jrtfa.com m




B L|EF=E (Construction)

i

| £x{ &l 2 X§ 2 | Components and Material list

S =0 INES HS 2EE WS
Number Part Name Materlal Number Part Name Material
==

Y=0|5E3 2l E2T7Y
Tube Aluminum alloy Retaining ring Carbon tool steel

& =318 o= e BT

Head cover Aluminum alloy Retaining ring Carbon tool steel

o~ =0|5312 Ak Erb3T
Piston Aluminum alloy Retaining ring Carbon tool steel

== Agolg A2t =
Rod Stainless steel 0O-ring

257 2T0ER=E =2
Rod cover Aluminum alloy 0O-ring

NBR

NBR

= Eta2) Z2)oje A=)z 512
Bolt Carbon steel Plate Aluminum alloy

<z NER =e BB Y
0-ring Bolt Carbon tool steel
2 NBR =E Btz

Rod seal Bolt Carbon tool steel

2 LR E2E i <2[E
Bushlng Aluminum alloy Bumper Urethane

www.jrtfa.com m




B F27|% (Howto Order)

S
Bearing

M- 22}0|= EA|
L- 224
%010 M227} Az2IHxA

N Bore Si
MZH  M-Slide Bush ore size

Product  L-BallBush 10,15
Name  #Notallowed for 10 20,25

T

IL X5
XY

Standard Stroke
10:10, 15, 20, 25, 30, 35, 40, 45, 50, 60, 70, 75
15:10, 15, 20, 25, 30, 35, 40, 45, 50, 60, 70, 75, 80, 90,100
20:10, 15, 20, 25, 30, 35, 40, 45, 50, 60, 70, 75, 80, 90,100
25:10, 15, 20, 25, 30, 35, 40, 45, 50, 60, 70, 75, 80, 90,100

|

l

XS N 50

|

MMzE
Sensor Type

2715 - MM U BRARES HTHx| QLI
RS(7IZEA) 712IAL, ZAjofAf S2f3t ejole)
HAIS 44245101 13 SRILIC,
* HE0| 8 HSE A T 2 27| sE
HIAY 404 FOIXIS A BiEiLIC

Nil - Sensor and relevant components are not supplied.
When entering RS(existing method), our Head Office will
attach a suitable sensor selected at its option.

* For the specification of sensor attachable to the product
and the sensor order code, refer to details of sensor part.

A2 MM M 2o BNy RINEL
Number of Sensor Cable Length Made to Order

Sensor B
e 2715 - 1m ChS H[OIX| F=.
97|5 - 2l 3M-3m For details,

5M - 5m refer to next page.
1-Tpe. QL] - AH4IE] AL
Mg *F14IE] AR A THSofRE MIA]
M| H|0|X|S EZ HIRHHCE

Nil - Tm

3M-3m

5M-5m

Q - Quick connector

* For the specification of connector
and availability, refer to details of
sensor part.

www.jrtfa.com m




JXS

B F2H|ZAF2E ( Made to Order : Individual specifications )

XR

EANP|E
Ordering code

XR5

Al /LHE
Specification
ZE AHIYAZ (MED} 715 Made of stainless steel (Only for M type)

XR7

EADZAZ(FKM] Fluoro rubber seal FKM)

www.jrtfa.com m




JXS 010,15

Stroke

o—&

M4x0.7x15 2 M4x0.7
SLZE)  (SLUUHE)
Hexagon bolt Hexagon bolt

F2E)
Though

7.7 4-M5x0.8 Tap DP4.5

| JXSM, JXSL Z2Ex|4+E | Common dimension
lalelclole] ¢ Joluli]s] > o o8
2xMé4x0.7 4xM3x0.5

28@3.41;l§ 2xM3x0.5 ol Y
2x06.520[3.3| & Zl0[5 g o H Z10]4.
17| 44| 15| 7.5] 2xMAx0.7 | 35 | 20 2x@3.4though 2=>'<M3><U45 06 | 3485 30 2xM4x0.7 4xM3x05

tap depth 7 tap depth 4.5

2xP6.5depth33 tap depth 5

2xPLIBE | 2xMbx0.7 2xM5x0.8 | 4xM4x0.7

2xM5x038 2x082l04.4 e} 21016 EiZi0[8 Ef 7105
2x P4.3though 2xM4x0.7 2xM5x0.8 4xM4&x0.7

2x@8depthé.b tap depth 6 tap depth 8 tap depth 5

| JXSM, JXSL STROKEH | E(010, @15) | Individual Dimension JXSM, JXSL Stroke o

0,15 3035 60,70 0,
o Illllllllﬂllﬂﬂl i) EI /7] Illﬂﬂﬂl
162|147

5 [100{105/115{125] 130 7 102{107|112|117|122132
159(169|179

[2315 70| 75|80 | 85|90 | 95{100{105|110/120{130|135|140| 150| 160| 25 35 45 | 45]55]89 99 [104]109 [ 114|119/ 124{129] 139 [149| 154

www.jrtfa.com m




JXS 020, 25

Stroke

F2HE) M6x0.7x20 % Méx0.7
F (Through) SEE) (8Z4E)
Hexagonbolt  Hexagon bolt

| JXSM, JXSL 25 %|4E | Common dimension

mm
Al

PURRE] 2xM4x0.7 4xM5x0.8 8xM4x0.7 | 2xMéx10

| EH 71 EH 71 EH 71 EH 71
esvesmas, | sy | 010(53|775 12548 95| 6 | BENC |8 TEOGT | B
2x09.5depth5.3 tap depth 6 tap depth 4.5 tap depth 5.5 tap depth 10

KP6IBE | 2xM5x0.8 4xPT1/8 8xM5x0.8 | 2xM8x1.25
2xMéx1.0 20117063 | & 20]7.5 ! 5| EZol65 471075 | 42012

2x06.9 though 2xM5x0.8 4xPT1/8 8xM5x0.8 2xM8x1.25
2x011depth 6.3 tap depth 7.5 tap depth 6.5 tap depth 7.5 tap depth 12

6412516223 |11.5| 2xM5x0.8 | 50 | 28 12130

| JXSM, JXSL STROKE® X|4=E(020~032) | Individual Dimension JXSM, JXSL Stroke

s ! =w ! &
0,15, | 30,35, | 60,70,75,

[ e S 2 T o T e

5100{105(110{115{120 130|140 [145|150 {160 |170 104{109 [114]119 [124|129|134 |139 | 144 [154 164|169 |174|184 | 194

97 (1021107 [112|117(122 132|142 [147 152|162 [172| 30 40 60 106{111 (116|121 (126 |131]136 | 141|146 {156 166 171|176 |186 | 196

www.jrtfa.com m






